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QUESTION 1

An administrator cloned a template into a virtual machine and then converted it back into a template. Which action must
be performed on the disks to restore expected levels of disk performance?

A. Run SysPrep

B. Complete a full copy

C. Execute a fast clone

D. Suspend before cloning

Correct Answer: B

QUESTION 2

Scenario: An administrator is adding a new host to a XenServer resource pool. XenServer is already installed on the
host, but the NTP server settings are configured incorrectly on the host.

Which file can the administrator edit to adjust the NTP server settings on the new XenServer host?
A. /etc/ntp.conf

B. /etc/ntp/keys

C. /etc/init.d/ntpd

D. /etc/ntp/step-tickers

Correct Answer: A

QUESTION 3

An administrator needs to create a resource pool of XenServer hosts.

Which two options are required of each host to create a homogeneous resource pool? (Choose two.)
A. Shared storage

B. Same vendor and CPU type

C. XenServer Advanced License or higher

D. Same version of XenServer and hotfixes installed

Correct Answer: BD

QUESTION 4
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An administrator needs to throttle traffic from the virtual print server because it has been impacting all virtual machines
on the network.

On which object should the QoS policy be configured?
A. Network

B. Global

C. Server

D. VM

Correct Answer: D

QUESTION 5

Scenario: An administrator needs to isolate network communication between two virtual machines on different
XenServer hosts in the same pool. The existing network features 1 GB switches, which do NOT support VLANS.

Which network type must the administrator select to meet the requirements of the scenario?
A. Bonded

B. External

C. Cross-server private

D. Single-server private

Correct Answer: C
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